PROJECT:	Kamehameha Highway Sidewalk Improvements Meheula Parkway to Kuahelani Avenue					-							·				
PROJECT NO	D.: 99C-01-99 Net Length of Project: 0.36 Miles			-												STATE	OF HAWAII
ISLAND:	Oahu DISTRICT: Ewa				NTRACTING NY, LTD.). LUNDY dba		SITE ERING, INC.		IEGA JCTION, INC.		TRUCKING ANY, LTD.		DELTA JCTION, INC.		TMENT OF PORTATION
DATE ADVERTISED: Honolulu Star-Bulletin - May 1, 2002 BIDS OPENED: May 23, 2002		OOWIFF	u41, L:D.	HARON ENGINEERING		initeditination, 1110.				,				HIGHWAYS DIVISION			
COMPLETIC	ON TIME: One Hundred Sixty (160) Working Days													· · · · · · · · · · · · · · · · · · ·			
ITEM NO.	ITEM	QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
202.0430	Removal of Bituminous Sidewalk	155	SY	\$3.00	\$465.00	\$30.00	\$4,650.00	\$11.20	\$1,736.00	\$27.00	\$4,185.00	\$6.00	\$930.00	**	**	\$100.00	\$15,500.00
206.2020	Structure Excavation for Drainage System	25	CY	\$120.00	\$3,000.00	\$100.00	\$2,500.00	\$115.10	\$2,877.50	\$120.00	\$3,000.00	\$300.00	\$7,500.00	\$150.00	\$3,750.00	\$125.00	\$3,125.00
207.1000	61616 Grass Swale	1183	LF	\$2.00	\$2,366.00	\$18.00	\$21,294.00	\$9.10	\$10,765.30	\$15.00	\$17,745.00	\$12.00	\$14,196.00	\$35.00	\$41,405.00	\$25.00	\$29,575.00
209.1000	Water Pollution and Erosion Control	F.A.	F.A.	F.A.	\$20,000.00	F.A.	\$20,000.00	F.A.	\$20,000.00	F.A.	\$20,000.00	F.A.	\$20,000.00	F.A.	\$20,000.00	F.A.	\$20,000.00
401.0400	Asphalt Concrete Pavement, Mix No. IV	10	TON	\$600.00	\$6,000.00	\$400.00	\$4,000.00	\$618.60	\$6,186.00	\$727.00	\$7,270.00	\$560.00	\$5,600.00	\$1,500.00	\$15,000.00	\$500.00	\$5,000.00
411.1212	10-Inch Reinforced Concrete Pavement	55	SY	\$200.00	\$11,000.00	\$290.00	\$15,950.00	\$429.10	\$23,600.50	\$260.00	\$14,300.00	\$270.00	\$14,850.00	\$400.00	\$22,000.00	\$175.00	\$9,625.00
603.0010	Bed Course Material for Culvert	5	CY	\$45.00	\$225.00	\$80.00	\$400.00	\$126.20	\$631.00	\$245.00	\$1,225.00	\$80.00	\$400.00	\$200.00	\$1,000.00	\$150.00	\$750.00
603.1010	24-Inch Reinforced Concrete Pipe, Class III	24	LF	\$150.00	\$3,600.00	\$100.00	\$2,400.00	\$50.95	\$1,222.80	\$105.00	\$2,520.00	\$40.00	\$960.00	\$300.00	\$7,200.00	\$100.00	\$2,400.00
604.4201	Adjusting Storm Drain Manhole Frame and Cover	1	EA	\$500.00	\$500.00	\$500.00	\$500.00	\$333.00	\$333.00	\$495.00	\$495.00	\$375.00	\$375.00	\$1,500.00	\$1,500.00	\$700.00	\$700.00
604.4340	Adjusting Sewer Manhole Frame and Cover	1	EA	\$500.00	\$500.00	\$500.00	\$500.00	\$333.00	\$333.00	\$495.00	\$495.00	\$375.00	\$375.00	\$1,500.00	\$1,500.00	\$400.00	\$400.00
604.4700	Adjusting Telephone Manhole Frame and Cover	3	EA	\$500.00	\$1,500.00	\$425.00	\$1,275.00	\$443.00	\$1,329.00	\$440.00	\$1,320.00	\$400.00	\$1,200.00	\$1,500.00	\$4,500.00	\$400.00	\$1,200.00
604.4710	Adjusting Telephone Pull Box Frame and Cover	2	EA	\$500.00	\$1,000.00	\$425.00	\$850.00	\$443.00	\$886.00	\$440.00	\$880.00	\$400.00	\$800.00	\$1,500.00	\$3,000.00	\$400.00	\$800.00
604.4720	Adjusting Telephone Vault Box Frame and Cover	1	EA	\$1,300.00	\$1,300.00	\$1,135.00	\$1,135.00	\$1,257.00	\$1,257.00	\$1,249.00	\$1,249.00	\$1,135.00	\$1,135.00	\$2,600.00	\$2,600.00	\$1,000.00	\$1,000.00
604.5050	Adjusting Lighting Standard Pull Box Frame and Cover	8	EA	\$450.00	\$3,600.00	\$375.00	\$3,000.00	\$387.50	\$3,100.00	\$385.00	\$3,080.00	\$350.00	\$2,800.00	\$1,500.00	\$12,000.00	\$350.00	\$2,800.00
604.5100	Adjusting Cable Pull Box Frame and Cover	1	EA	\$1,300.00	\$1,300.00	\$1,192.00	\$1,192.00	\$1,257.00	\$1,257.00	\$1,249.00	\$1,249.00	\$1,135.00	\$1,135.00	\$1,500.00	\$1,500.00	\$400.00	\$400.00
604.5200	Air Force Frame and Cover	1	EA	\$1,300.00	\$1,300.00	\$2,000.00	\$2,000.00	\$1,107.00	\$1,107.00	\$1,100.00	\$1,100.00	\$350.00	\$350.00	\$1,500.00	\$1,500.00	\$3,000.00	\$3,000.00
604.5410	Type 61614P Grated Drop Inlet, 4.00 ft to 4.99 ft	4	EA	\$4,000.00	\$16,000.00	\$8,000.00	\$32,000.00	\$8,539.50	\$34,158.00	\$5,747.00	\$22,988.00	\$10,000.00	\$40,000.00	\$15,000.00	\$60,000.00	\$8,000.00	\$32,000.00
			<u> </u>	L		<u>. </u>		L		<u> </u>				•		Sheet No.	1 of 4 Sheets

PROJECT:	Kamehameha Highway Sidewalk Improvements Meheula Parkway to Kuahelani Avenue									•	•						
PROJECT NO	D.: 99C-01-99 Net Length of Project: 0.36 Miles																
ISLAND:	Oahu DISTRICT: Ewa			· ·	NTRACTING	RONALD D. LUNDY dba HARON ENGINEERING		SITE ENGINEERING, INC.		MEGA CONSTRUCTION, INC.		OKADA TRUCKING COMPANY, LTD.		**DELTA CONSTRUCTION, INC.		DEPARTMENT OF TRANSPORTATION	
DATE ADVERTISED: Honolulu Star-Bulletin - May 1, 2002 BIDS OPENED: May 23, 2002			COMPANY, LTD.														
COMPLETIO	N TIME: One Hundred Sixty (160) Working Days																
ITEM NO.	ITEM	QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
606.5200	State Furnished Portable Concrete Barrier (Intermediate)	11	ĒΑ	\$350.00	* \$3,850.00	\$200.00	\$2,200.00	\$790.30	\$8,693.30	\$643.00	\$7,073.00	\$1,000.00	\$11,000.00	\$200.00	\$2,200.00	\$1,200.00	\$13,200.00
608.1100	Reinforced Concrete Sidewalk	2250	SY	\$77.00	\$173,250.00	\$65.00	\$146,250.00	\$85.92	\$193,320.00	\$95.00	\$213,750.00	\$180.00	\$405,000.00	\$100.00	\$225,000.00	\$115.00	\$258,750.00
609.2721	Curb and Gutter, Type Modified 2DG	150	LF	\$65.00	\$9,750.00	\$85.00	\$12,750.00	\$94.25	\$14,137.50	\$63.00	\$9,450.00	\$45.00	\$6,750.00	\$100.00	\$15,000.00	\$55.00	\$8,250.00
618.0100	Grassed Surfaces (900 SY)	L.S.	L.S.	L.S.	\$4,500.00	L.S.	\$10,500.00	L.S.	\$18,805.00	L.S.	\$11,000.00	L.S.	\$10,000.00	L.S.	\$40,000.00	L,S.	\$31,500.00
619.0300	Removing Large Tree	2	EA	\$700.00	\$1,400.00	\$1,200.00	\$2,400.00	\$1,329.00	\$2,658.00	\$2,275.00	\$4,550.00	\$750.00	\$1,500.00	\$5,000.00	\$10,000.00	\$4,000.00	\$8,000.00
621.5000	Regulatory and Warning Sign (10 Sq. Ft. or Less)	2	EA	\$180.00	\$360.00	\$400.00	\$800.00	\$166.00	\$332.00	\$213.00	\$426.00	\$150.00	\$300.00	\$300.00	\$600.00	\$200.00	\$400.00
621.5100	Regulatory and Warning Sign (10 Sq. Ft. or Less) With Post	3	EA	\$250.00	\$750.00	\$500.00	\$1,500.00	\$222.40	\$667.20	\$362.00	\$1,086.00	\$255.00	\$765.00	\$500.00	\$1,500.00	\$450.00	\$1,350.00
621.5300	Regulatory and Warning Sign (Greater Than 10 Sq. Ft.) With Post	2	EA	\$430.00	\$860.00	\$1,000.00	\$2,000.00	\$454.00	\$908.00	\$582.00	\$1,164.00	\$410.00	\$820.00	\$800.00	\$1,600.00	\$500.00	\$1,000.00
621.7100	Construction Sign with Two Posts	20	EA	\$430.00	\$8,600.00	\$500.00	\$10,000.00	\$529.00	\$10,580.00	\$582.00	\$11,640.00	\$410.00	\$8,200.00	\$800.00	\$16,000.00	\$600.00	\$12,000.00
621.7110	Construction signs	4	EA	\$150.00	\$600.00	\$150.00	\$600.00	\$241.25	\$965.00	\$220.00	\$880.00	\$150.00	\$600.00	\$500.00	\$2,000.00	\$450.00	\$1,800.00
623.4041	Pedestrian Push Button and Sign Mounted on Signal Standard	17	EA	\$425.00	\$7,225.00	\$410.00	\$6,970.00	\$432.00	\$7,344.00	\$554.00	\$9,418.00	\$390.00	\$6,630.00	\$800.00	\$13,600.00	\$300.00	\$5,100.00
623.6010	Type B Pulibox	15	EA	\$880.00	\$13,200.00	\$840.00	\$12,600.00	\$886.00	\$13,290.00	\$1,135.00	\$17,025.00	\$800.00	\$12,000.00	\$1,500.00	\$22,500.00	\$1,000.00	\$15,000.00
629.1010	4-Inch Pavement Striping - Tape, Type I or Thermoplastic Extrusion (680 Lin. Ft.)	L.S.	L.S.	L.S.	\$680.00	L.S.	\$650.00	L.S.	\$685.00	L.S.	\$680.00	L.S.	\$650.00	L.S.	\$1,500.00	L.S.	\$820.00
629.1011	4-Inch Pavement Striping - (Tape, Type II or Thermoplastic Extrusion (7320 Lin. Ft.)	L.S.	L.S.	L.S.	\$7,320.00	L.S.	\$7,000.00	L.S.	\$7,377.00	L.S.	\$7,328.00	L.S.	\$7,000.00	L.S.	\$15,000.00	L.S.	\$7,320.00
																Sheet No.	2 of 4 Sheets

PROJECT:	Kamehameha Highway Sidewalk Improvements Meheula Parkway to Kuahelani Avenue															·	
PROJECT NO	O.: 99C-01-99 Net Length of Project: 0.36 Miles																
ISLAND:	Oahu DISTRICT: Ewa			F .	ONTRACTING ANY, LTD.	1	D. LUNDY dba NGINEERING I		SITE ERING, INC.		MEGA JICTION, INC.		TRUCKING ANY, LTD.	1	DELTA UCTION, INC.	1	RTMENT OF PORTATION
	RTISED: Honolulu Star-Bulletin - May 1, 2002 BIDS OPENED: May 23, 2002			O sull 7	WI, E.D.	AZNONE	. CONTECT (III CO	Jan 1 4 4 11 4 4 4		3311311			wii, 212.				
COMPLETIC	ON TIME: One Hundred Sixty (160) Working Days																
ITEM NO.	ITEM	QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
629.1012	4-Inch Pavement Striping - Tape, Type III or Thermoplastic Extrusion (560 Lin. Ft.)	L.S.	L.S.	L.S.	\$560.00	L.S.	\$535.00	L.S.	\$565.00	L.S.	\$560.00	L.S.	\$535.00	L.S.	\$2,500.00	L.S.	\$730.00
629.1013	8-Inch Pavement Striping - Tape, Type I or Thermoplastic Extrusion (2235 Lin. Ft.)	L.S.	L.S.	L.S.	\$3,129.00	L.S.	\$2,980.00	L.S.	\$3,143.00	L.S.	\$3,122.00	L.S.	\$2,980.00	L.S.	\$6,000.00	L.S.	\$3,355.00
629.1017	12-Inch Pavement Striping - Tape, Type III or Thermoplastic Extrusion (190 Lin. Ft.)	L.S.	L.S.	L.S.	\$475.00	L.S.	\$425.00	L.S.	\$440.00	L.S.	\$437.00	L.S.	\$415.00	L.S.	\$3,000.00	L.S.	\$400.00
629.1020	Crosswalk Marking - Tape, Type III or Thermoplastic Extrusion	31	Lane	\$190.00	\$5,890.00	\$170.00	\$5,270.00	\$179.40	\$5,561.40	\$179.00	\$5,549.00	\$170.00	\$5,270.00	\$500.00	\$15,500.00	\$250.00	\$7,750.00
629.1031	Pavement Arrow - Tape, Type III or Thermoplastic Extrusion	23	EA	\$140.00	\$3,220.00	\$123.00	\$2,829.00	\$129.60	\$2,980.80	\$129.00	\$2,967.00	\$123.00	\$2,829.00	\$400.00	\$9,200.00	\$200.00	\$4,600.00
629.1041	Pavement Words - Tape, Type III or Thermoplastic Exrusion	2	EA	\$400.00	\$800.00	\$370.00	\$740.00	\$389.80	\$779.60	\$388.00	\$776.00	\$370.00	\$740.00	\$600.00	\$1,200.00	\$200.00	\$400.00
629.2010	Type A Pavement Marker (430 Each)	L.S.	L.S.	L.S.	\$3,010.00	L.S.	\$2,447.00	L.S.	\$2,581.00	L.S.	\$2,563.00	L.S.	\$2,450.00	L.S.	\$7,000.00	L.S.	\$2,580.00
629.2030	Type C Pavement Marker (322 Each)	L.S.	L.S.	L.S.	\$2,254.00	L.S.	\$1,960.00	L.S.	\$2,065.00	L.S.	\$2,051.00	L.S.	\$1,960.00	L.S.	\$5,500.00	L.S.	\$2,415.00
629.2070	Type H Pavement Marker (112 Each)	L.S.	L.S.	L.S.	\$672.00	L.S.	\$570.00	L.S.	\$599.00	L.S.	\$594.00	L.S.	\$570.00	L.S.	\$2,500.00	L.S.	\$840.00
629.3010	4-Inch Construction Pavement Striping - Tape (460 LF)	L.S.	L.S.	L.S.	\$1,380.00	L.S.	\$1,097.00	L.S.	\$1,156.00	L.S.	\$1,149.00	L.S.	\$1,100.00	L.S.	\$3,000.00	L.S.	\$920.00
629.4030	Type C Construction Pavement Marker (12 Each)	L.S.	L.S.	L.S.	\$960.00	L.S.	\$73.00	L.S.	\$77.00	L.S.	\$76.00	L.S.	\$75.00	L.S.	\$200.00	L.S.	\$100.00
645.1000	Additional Police Officers and/or Additional Traffic Control Devices	F.A.	F.A.	F.A.	\$77,500.00	F.A.	\$77,500.00	F.A.	\$77,500.00	F.A.	\$77,500.00	F.A.	\$77,500.00	F.A.	\$77,500.00	F.A.	\$77,500.00
649.6230	Inertial Barrier Module (700 lbs)	3	EA	\$550.00	\$1,650.00	\$350.00	\$1,050.00	\$553 .75	\$1,661.25	\$600.00	\$1,800.00	\$500.00	\$1,500.00	\$5,000.00	\$15,000.00	\$500.00	\$1,500.00
					:												

Sheet No. 3 of 4 Sheets

PROJECT:	Kamehameha Highway Sidewalk Improvements Meheula Parkway to Kuahelani Avenue																
PROJECT NO.: 99C-01-99 Net Length of Project: 0.36 Miles ISLAND: Oahu DISTRICT: Ewa		ROYAL CONTRACTING		RONALD D. LUNDY dba			IITE	MEGA		OKADA TRUCKING		**DELTA		DEPARTMENT OF			
ISLAND:				COMPANY, LTD.		HARON ENGINEERING		ENGINEERING, INC.		CONSTRUCTION, INC.		COMPANY, LTD.		CONSTRUCTION, INC.		TRANSPORTATION	
DATE ADVERTISED: Honolulu Star-Bulletin - May 1, 2002 BIDS OPENED: May 23, 2002																	
COMPLETIO	N TIME: One Hundred Sixty (160) Working Days																
ITEM NO.	ITEM	QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
649.6240	Inertial Barrier Module (1400 lbs)	4	EA	\$750.00	\$3,000.00	\$350.00	\$1,400.00	\$553.75	\$2,215.00	\$600.00	\$2,400.00	\$500.00	\$2,000.00	\$8,000.00	\$32,000.00	\$500.00	\$2,000.00
649.6250	Inertial Barrier Module (2100 lbs)	2	EA	\$800.00	\$1,600.00	\$350.00	\$700.00	\$609.00	\$1,218.00	\$660.00	\$1,320.00	\$550.00	\$1,100.00	\$10,000.00	\$20,000.00	\$500.00	\$1,000.00
650.0300	Curb Ramp, Type A	8	EA	\$3,700.00	\$29,600.00	\$3,000.00	\$24,000.00	\$2,238.00	\$17,904.00	\$2,890.00	\$23,120.00	\$3,500.00	\$28,000.00	\$5,000.00	\$40,000.00	\$2,000.00	\$16,000.00
650.0500	Curb Ramp, Type C	9	EA	\$3,300.00	\$29,700.00	\$2,500.00	\$22,500.00	\$3,339.00	\$30,051.00	\$2,200.00	\$19,800.00	\$8,500.00	\$76,500.00	\$4,000.00	\$36,000.00	\$1,500.00	\$13,500.00
650.0501	Curb Ramp, Type C Modified	6	EA	\$3,500.00	\$21,000.00	\$5,000.00	\$30,000.00	\$4,686.75	\$28,120.50	\$3,845.00	\$23,070.00	\$10,250.00	\$61,500.00	\$6,000.00	\$36,000.00	\$3,000.00	\$18,000.00
652.0100	Cold Planing	65	SY	\$80.00	\$5,200.00	\$85.00	\$5,525.00	\$89.15	\$5,794.75	\$113.00	\$7,345.00	\$81.00	\$5,265.00	\$200.00	\$13,000.00	\$40.00	\$2,600.00
657.5000	Sidewalk Drain	1	EA	\$3,300.00	\$3,300.00	\$3,000.00	\$3,000.00	\$1,259.00	\$1,259.00	\$5,890.00	\$5,890.00	\$3,000.00	\$3,000.00	\$6,000.00	\$6,000.00	\$10,000.00	\$10,000.00
699.1000	Mobilization (Not to Exceed 10% of the Sum of All Items Excluding the Bid Price of This Item and Force Account Items)	LS	LS	L.S.	\$40,000.00	L.S.	\$41,500.00	L.S.	\$11,787.60	L.S.	\$47,250.00	L.S.	\$60,865.00	L.S.	\$50,000.00	L.S.	\$55,145.00
	Sum of All Items				* \$540,901.00		\$555,967.00		\$588,000.00		\$627,910.00		\$919,975.00		**		\$714,100.00
	Preference (For Bid Evaluation) A. Hawaii Products B. Recycled Product (Not Applicable)				\$0.00												
	C. In-State Contractor				\$0.00									,			ب مربر مربر کا این ساختیان و شاوی از این
	Amount for Comparison of Bids				\$540,901.00		\$555,967.00		\$588,000.00		\$627,910.00		\$919,975.00		**		\$714,100.00
	Corrected Figure ** Bid rejected due to nonacknowledgement of addendum																
	Project Manager: Duane Taniguchi Date: June 10, 2002																